OHFBMOBMEDIRNR SM2FE

X 5 R B B =
#8 | T8 - @WE - %S | 1,015,000 3 - 805.000 [ - 670,000
%8 | =S 2®E - BE | 530,000 3 - 435,000 /3 - 405,000 3
B | me - BME  4ER | (S102 FE2ENS) 6AB1700 A% 1288165085 5335 A%
% | #2528 ma | (SN2aELRES) 6B 1700 88 12 BH 165085 533585
OB S B DR & E L IERIEH
. B 8 % ST T
2w 2H2GE | SNIEE | BK T B8R B0
z = 5 6 -
B 79 79 -
B 55 59 -
B 7 90| AS [ ERE SRS
e |5 %2 & 1007 ERs oS
Bk 56 I N Nt P Soris
BT 3 i3 -
1R 50 G| R SO E R R R R R R E R R
T 347 304]_A3|(B2) AD10.000 ASF-UBER 43.1 A
. T 90 87| 23 007145 BNCERA, EEREShEAIEEEE AR
wAGEER T = S
TEast &t 437 1] 26l 10 10000/ SEURER 510X
X B 1 12 1 K ERERNERES
o RS & 6 P EEoREREtaE
AELRESFHR | -L i 3 L
Tt 50 52 >
5 487 183] 24 [(B%) A0 10000 ALLUBEH 605X
BRI MEI_ET SBENT. WAABENENERET NS, NEBELCESh, G, FRIDBBER<
O 7 REBBEEALETE OFERFEBIRA () OF 7 REBHEELETEDOEHEBZ
270 I — HEED
X % 3EE  |mEBm(ex w0 . b
B_& 7 472424818 487
— T . :
8 = sl A3 SH3E4818 482 AB
BEX 344
= 3 ST4E4B1E | 485 3
_ 8 5 0
R —— — SM544818 | 485 0
= &/ $76E4A18 486 1
"B 0
pEpxs | B B 2 SH7E4R1E | 487 |
=5t z &l 2 en 5
BEX 52 :
W8 10 et N
) = a2 6 ORRMALZEDRERE SH2EE
a £ 3 x4 REEEILBEOR
BEX 183 487 0A
*37 REBEE(GIBON BN, 103 £EN55107 FED 5 FHTT,

QEHENEBHEORR FSH2FE SFEXRFHRABROIMEKI SM2FE

BE 1 ABCUD

BN EISROTEY ooy oy | [R50 A| BEMOEN B [RRBSK C| TS S8 B/C|HiE% B/A
19273 5@ 110 & 17.604 8 (5593 O56@| 461 A 1218 31.8%
QI ENHHEERE (BEMNLEDHD)
1 BEDEHFEEFE Ealelisgdl Ry Bz REBIF RS
B #FBERASEHMER T83-8099 [ 3smmassn | 781863058 | 5#5F 165 |FAOBNSFEI B

(7) D B

A%ﬁ&ﬁ ZDWRR

NERIFE ROICEIEASTEEEDIRRATRODE
cka’c EDRNENE - %E'H'Ié%m&)épt%amtb’mim AR
BEDFIRRLICEDTT, INTOEBICDVTIE. MIA—AN=IFc3mEer

FERAY OHEDERB THESR <12 Lo

ICHHMEBTBRILE

=

%Li?

HRIEAD

@i

QNGB (BBERETRHE) SM2FE Qi EE (TERETTHE) SHIEE
BREFSEAD] woe | sems | cnmo NER| [man w5 & TABL
($%102%1818) (B/A) oo R | Lo |vksE
A woR |BEeEFE|. N 5t B (B/A)
80,395 A T T 00% = =
49.050.676] 2.409.589]4.435.894 459 A 1 694.127| 324.616)693.992|2.712.235] 5910
SOBEICE, BB RSN, BNEESAET. R
QBB DERENR FERITIHHAE G245481050  QTigid5 BES LOTHER G025481 980
X5 [Fean 0G|eeen 0 R 5k [EeaR 0k e
e e e A TR
R | Sk — — — 324.100 @ 315,642 M 378,958 M 40.9 m%
XEPD [~ RHET ZBEN B VEE T, % E D BB
QBB DYMERLDIKMR (5M24&4 81 BEE) TISERAE | TS AR WO
=% T 312432 340607 5337
v | 2% | 182200 188700/ 1822000 XTSRS, wE. HEFL BHFS AETS
IR e | 150.600 M 154.000 0 150.600 0] ERBFY, BEAFY BEFY HABDEFY @
REEPBE| B | 143800 @] 162700M] - BETLOBHEBER TRLUIETT.
O —MITBEE DM S BORRK  BH025451 880
X 5» i 2®_ | o | 48 | 5% | 6@ | 7% | 8® i
o % 505 | = B . I
BB X 32 71A | 68L | B2 A | 68 | 23A | 31 A | 9A | 354X
B B 9.0% 20.1% | 19.2% | 14.7% | 192% | 65% | 88% | 2.6% | 100.0%
OBEFLORA SH2FE
X5 =@ R X % &
2702 BEEZIEES) 2702 FEZRED)
B [OSERUBS (i SBEE) |ONEHIBE (KEuREs) (ERE 65007
BATS | opTs BATS | 9pTs | BEZ 10000/
T 688 | 15055 09585 | 688 | 13085 08555 | | & |FEFEC| BIOmICET SO
S| 1258 | 12555 095 A5 | 1288 | 126 A5] 09588 | | |5 3£ | #2omedsollk
5 [OBERHBBELLIOBE ORESBBELL OB % |5r3% | OBMO3A3IBET
o BATS | OpTs BATS | DpTS DBI-5HT 1 A=
=| 688 | 1108811688 | 6A% [1.10B%| 1.15B% 5,000 M5
%[ 1288 | 10585 | 11585 | 1288 | 1.058% | 11585
BBRINBEESY 5~ 15%) |GHs  BEBINEREnY & |ex wm| g% emEEE0
(37353731 BRERRE) (51353 A 3] DREZRE) B |ges (8| RE0BCHL. &
B85 |05 Eak Bo®s |25 nEE| | | #=Ws) | B28000MET
o | B 20 2 | 195695 B53 24586875 25 | s 20 ¢ | 196695 22 | 24586875 7
= | ¥ 25 & | 28039 £ 320076 5 | B 25 & 8036 8% | BO0EER| | | 4rmpup | - RMEmRImERES
= | #0365 & (307505 %) | 47900 3| #8535 & 300575 7 | 4170 AH| | B | eqme | 1L, 88550003
L | mEmesm 00055 0055 | memEE| 0eEA| ness| | B x| B oo
LOMMBHE TAESBERED |40 wimne —roomemen | | o | TEES | s CRoauE
BB (2%~ 45%08) S (o dE oy = |wmE | S5Sis0n
STy 15387 Fm|te (%~ 45%I0%) > 316007
SRBTED | SRR ER 5102 FECRE L Ba I S T T Y.
= [BEZA S5 TREE0ED 0.8% B, CBEs 1197067/
ZERREE | ASLU0 5 |~ (B8 1 ASU0
B |[vsers 11254 9| PE e 268 7H
B [FS0mE (F508) 1% i | [2ees 1373127/
e o RRETHIETS, ABTAANGIESS. ABEE| | % |Ju[mE 1 ABLU0
e e it ETE R BB 4 | vpen 337FH

A 3410 5 (6)



